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1. Introduction
RAN2 has agreed [1] the following for Scell SI handling:
1) Scell SI received with dedicated signalling remains valid until the Scell is released

2) For Pcell, Rel89 handling of validity timer is applicable. Only when there are problems shown with this we can revisit.
	The following questions still remain:

· What information will be provided for the Scell ? Complete MIB, SIB1 and SIB2, or only relevant IE's for CA ?

· Is this just eNB behaviour?




From TS36.300 it is stated “There is no need for the UE to acquire system information directly from SCells. The system information of an SCell remains valid as long as the SCell is configured. Changes in system information of an SCell can only be handled through the removal and addition of the SCell. Removal and addition of an SCell can be done with one RRC procedure.”

In order to try and answer the question of what system information is required for the Scell we discuss this issue. 

2. Discussion
As there is there is no need for the UE to acquire system information directly from SCells then it is may seem that not all SI is required when the Scell is configured for CA. 
However, in the case is where a Scell becomes a PCell it is clear that the UE should read the relevant SI from the PCell, in this case then it seems that complete MIB, SIB1 and SIB2 is needed to be transferred to the Scell and any additional SI for the Scell is FFS.
Also, to ensure that “CCs originating from the same eNB need not to provide the same coverage but shall be LTE Rel-8/9 compatible” it is important that the complete MIB SIB1 and SIB2 information is transferred to the Scell.
Therefore we propose that: 
Complete MIB, SIB1 and SIB2, SI should be the baseline for the Scell", additional SI for the Scell is FFS.
3. Conclusion
With above discussions, we propose that: 

Complete MIB, SIB1 and SIB2, SI should be the baseline for the Scell", additional SI for the Scell is FFS.
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